6. What is Cell Potency ? Briefly explain its various

types.

I qed = % ? zEe fafv= yRR w1 @aw A
REEIES

. Although many sperms attach to the coats
surrounding the egg, it is important that only one
sperm fuses with the egg plasma membrane and
delivers its nucleus to the egg. How is this ensured ?
Explain.

Tafd S YV AU ® ARl de W fauwd €
iy Haa Tew YR B SUS Wl foAeet | Hard
FAT T A SATT HSHk IUS HI U A ¥ TS Y
gfafeaa 3@ § 7 Swemse

. “It is a misunderstanding that the larval form
always reflects the group’s evolutionary history.”
Enumerate the statement in context of post-
embryonic development.

‘& T fHeaEiy § for oel 9 ged € HEN St
I &l Fxa 817 39w w1 IW YW fowm &
=y § faafeaa s

. Write notes and differentiate the following :

(@) Primary Sex Determination

(b) Secondary Sex Determination

frafafea = d@fva femfrt fafe

(21) wafdes fem e

() fodraes fem frafo
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

fE9r .- T8 yvA-13 ‘o1’ iR ‘e’ 1 Tuel | fawifea ®1 Tow

Trg & FEYIHER I9 & SR
Section-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
Qg —H
(3tfa &g ST 99)
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(vi)

fodl 9 Uvdl & SW IV 39 IO W R
FIITER T V55, T a6 a1 Afuskan 30 v=ai |
IfEifaa FINT ) Y% U9 4 {ni w1 T

What do you mean by the term ‘Ecological
Equivalents’ ?

TiRfeafad THwe ¥ T w1 g § 2

Who proposed and popularized the theory of

r- and k-selection ?

7- A k=R o Togra i fhe wwaifaa 9 geiika
T 2

Write the formula to calculate Simpson’s
diversity index.

fargem S fafasa geeis &t ToF SIS

What do you understand by Pioneer Species ?
TR/ SO gSfa W ST R WHe 7

In which year the Biodiversity Act was
enforced by Government of India ? Mention

a salient feature of the Act.

YNd R g Satafayar stfutem feg ad |
o] fomam T ? TRt Wk Hed fasiear aaEu
What is Ramsar Convention ?

TIER U ¥ 2

(vii) What does the Schedule I and Schedule II of

the Wildlife Protection Act, 1972 of
Government of India describes.

TS wReo Afafm, 1972 1 eTEet 1 @R
II & =0 affa & ?
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(viii) Define Ecosystem Energetics.

Tifeeafarta s fagm = aRwifea ifsa

Section-B 16x4=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.

TUE—a
(T ST U9)

o - fo=l = g9l & S AfSul 39 etue STl
srfereram 200 va # ufiEifga wifsT) 9w g9

16 37! AT T

. There are three mechanisms which control

behaviour. Highlight each of them.
TR 1 TEd & ol o fwafarE 1 9o
W YT ST |

. How Neuroanatomical techniques are useful in

studying behaviour in lab ? Cite examples.
TANRIET H SRR &% APEd H UUARM deER
79 ywR TRt § 7 e ifsm

. Explain Biological clocks in detail.

Sifereh wet i fomR 9 e Siftsg |

. Learning has been classified differently by various

scientists. Write Thorpe’s classification which is
most widely used.

fafi= St = stferm @t f-fa &9 & affea
fFar &1 o &1 FfieRw e w9 ¥ R fwe
S €, S faafaa wifsw)
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